1 wriver Pyt ﬁ'ﬁ v wiig das
2 fore T I R 7
(A) TSR TETG
(B) gdia B
(C) WEe Jgadt
(D) Wit e
“Godan” is the novel written by whi
: ch of
the following famous author ? ’ ’
(A) Jaishankar Prasad
= _ (B) Suryakant Tripathi
, (C) Makhanlal Chaturvedi
(D) Munshi Premchand

2. ﬁ%ﬁaﬁﬁﬁmmwaﬁa

|

T R & 7 _
(A) ¥RaT (B) U YE
© wafemor (D) A

Which of the following is the highest
civilian award of India ?
(A) Bharat Ratna
(B) Padma Bhushan
(C) Padma Vibhushan

' (Dy Padma 'Shri

s frefitea § @ e fE @ s

' wgiferam feaa” %?Euiiaqnn:nHT% ?
(A 15 AT (B) 26 =l
(C) 267 (D) 30 fewse
Which of the following days is
celebrated  as “«(Constitution  Day
-(Samvidhan Divas)” in India ?
(A) 15" August (B) 26" January

(cy 26" November (D) 30t December

s ot # & feed 'ﬂﬁﬁqﬁg’ 1l

I S
(4 <& @®) |
(C) TeaH (D) Tl !

Which of the following contains “Lactic
- Acid” ?
= A Curd

B) Vi
g: Smnach (B) Vinegar

(D) Tamarind .

s me
SReR——————— L el s S
R Ay Ty AR T4 A T u

5.

- Oy

T oA Pt 3 @ fw T

- e g
() 7wz @) mwy ek

(C) BwEawy (py T

"Gllldi Padva” is a spring-time festival of
which of the following States ?

(A) Uttarakhand

(B) Maharashtra
(C) Himachal Pradesh

(D) Gujarat
B 2 G el

e
ﬁﬁﬁﬁﬁaﬁmmmmm%?

(A) raTe 3P YrEd wret 1 A

(B) AT HATTA

(C) xﬁﬁnaﬂtsﬂnuntaﬁﬂu

(D) TE T

The responsibility of conducting the
decadal census rests On which of the

following ministries ?
(A) Ministry of Housing and Urban

Affairs
(B) Ministry of Planning
(C) Ministry of Information
Broadcasting
Ministry of Home Affairs

g AEETRSR  SE H GE
frfefaa # & el fR@ R ?

(A) FTIE B) 3

@ Tifeh @O T

The headquarters of the National Human
Rights Commission is situated at which
of the following ?

(A) Bengaluru (B) Mumbai

(C) NewDelhi (D) Mysuu

TTER FTeT 6 RreHEd @ B F T

and

| RETTE TR TR 7

What is the helpline number to register ®
complaint for Cyber Crime ?
Egg 1910 (@) 1920
1930
(D) 1940

e
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10.

11.

12.

AN PRI ST

e qﬁmfﬂn%?

(B) & e, ©

© T, S

(D) &, g, i

Wh_ﬁlt is the tagline of Uttar Pradesh
Police ?

(A) Satyamev Jayate

(B) Suraksha Aapki, Sankalp Hamara
(C) .Seva, Veerta, Bandhuta

(D) Seva, Suraksha, Shanti

FRhve Jeror Rge SEEYT SR ITES
T % Referfaa 3 & Tora et § RAE 7
(A) STFHIRT (B) =Ed

(C) A (D) SEAl
Aryabhatta  Research Institute  of
Observational Sciences is located in
which® of the following districts of
Uttarakhand state ? e

(A) Almora
(C) Nainital

W
(&S

(B) ' Champawat
(D) Chamoli

G20 U ST TR 7

(A) TARTL

(B) et :mtsa%a"l

© FsTd

(D) TR HAE H

What is the full form of G20 ?
(#) Group of Twenty

(B) Gathering of Twenty.
(C) Grand Twenty

(D) Glory of Twenty

(D) Welg

India’s largest inter—departmental

convetgence program “Operation Kayakalp”
by the Government of

was launched _
which of the following states ?

(A) Himachal Pradesh
(B) Uttar Pradesh
(C) Gujarat

(D) Maharashtra

HTUF R OB Lo O PRI Ve -
. D ! {
KON IWEN T8 Vol o o S vy PR wSRT AT S L Y2
L TR PR PO e
OIS Y Ry

3

13.

14.

15..

16.

W # e Gﬁ!{ﬂ‘c"lwﬁwwﬁ%@f-
Frerferfia i @ frad gm0 e e
Ty ?

(A) FeTRt TEF B

(B) #t. Tmr wfirfa

(C) wyw wfufy

(D) wEraffa

The idea of a nationwide GST in India
was first proposed by which of the

following ?

(A) The Kelkar Task Force

(B) C.Rangarajan Committee

(C) . Basel Committee

(D) Rekhi Committee

w1 fyetataa # ¥ HF | IS <
e 35w Sy wften g TE e € 7
(o) =ER . (B) T

© M @) e

Which of the following neighbouring
countries of India does not share land

boundaries with India ?
(A) Myanmar (B) Nepal
(C) Bhutan (D) Maldives

oy b ¥ et # ¥ BRE &
H T B 7

(A) TS @) =

(C) U= (D) T

“Tokyo” is the capital of which of the
following countries of Asia ?

(A) Thailand (B) China

(&¥ Japan (D) Bali

Tgwd T Al § fRm mie e
frafafea & & fvw 7 g Riffa e
=TT ?

(A) ®SEA (B) HIENRE)

(C) hiafean (D) THH

The Grand Canyon located i

n th i
Sta.tes of America was carvede ;{;Ttgd
which of the following rivers ? .
(zé) Hudson (B) Colorado
(C) Columbia (D) Yukon

DH-1
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17.

18.

19.

20.

D& e i SAILS OF Tl 0NN PO O ¥ 00K B c |
UL T P O LN OVl
DH- ' PN PN TV MO PRI O A M S —

qﬁaﬁmﬁrﬁ‘ﬂﬂﬁﬂﬁwﬁﬁaﬂ‘f%?

(o) FEEM  (B) S TG

(© fmEEm (D) CUICE DRG]
h of the

The Narmada falls in whi_c
following ?

(A) The Arabian Sea

(B) The Pacific Ocean

(C) The Indian Ocean -
(D) The Bay of Bengal -

7 it 3 T AT A A FI F
fomr 9 1 O T & S fory B a
soddEtEE

@ wE o (B) TEE

(©) ==l o) W .
Name the songs which celebrate the
divine love of Radha and Krishna and
especially popular in Braj. iaTlE

(A) Khayal (B) Charkula
(C) Kajri. (@ Rasiya
o TATed 3 fefafiaa # & feasht ame

%@ a@ fradl fi gl & fag -

fiEr” (Paat-Mitro) RAFTA A= 8 ?
A) R (wE) (B) FE
© ®™w - D) I
Ministry of Textiles has launched

“Paat-Mitro” application to. facilitate
farmers producing which of the following ?

(A) Jute (B) Cotton -
(C) Silk (D) Wool
gy Frfofea § & e Tsa 6t a=@
AR el et B 7 by -

(A) TaEm (B) ufvem s
© fafeem (D) Afem

“Thangka” is the most popular art form
of which of the following states ?
(A) Bihar (B) West Bengal

: enga
(©) Sikkim u;‘(( Odisha

21.

22.

23.

-De

24,

freafafaa # & fraa afeam & v g8

F foprl (@T0) Y T fomam o s @
T v 7

(A) it Fee I

(B). *ft 3w fargmt AW TrATEy

(C) AT I

(D) AP Ta

Who among the following had designed
the borders of every page of the
Constitution and adorned 1t with art

ieces 7
A) Shri Nand Lal Bose _
B) Shri Prem Behari Narain Raizada

C) Shri Sayed Haider Raza
D) Shri Jamini Roy .
aret € #, fea % Frefafea 3 | fea e
HNIEED

(A) %@

- D) %Zl‘wl'(ﬁ?
©) T statue( of Tamil poet and

tly, the
o Thiruvalluvar has been

hilosopher .
Enveileg at which of the following

countries of the world ? .
(A) France (B) Brazil
(C) Hungary (D) Switzerland

2016&:%gaﬁ${maamﬁw%rﬁ§aﬁﬁ
I I & TaTE & 7

(D) =t ue. . TSIt

Who among the following was the Prime
Minister of India at the time of
onetisation of 2016 ? '

- Shri Narendra Modi

(B)" Shri Manmohan Singh

(C) Shri Atal Bihari Vajpayee

(D) Shri L.K. Advani

T T, T A & Pefafea § @
fora wmges i St oft 7
(A) FARIA (B) HHRTW

(C) waI< fgda (D) wherw
Prabhavati Gupta was the daughter of
which of the following rulers of the
Gupta Empire ?

(A) Kumargupta

(B) Samudragupta

(C) Chandragupta II

(D) Skandagupta

A SRS TN TRV A AN B TRV o
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25.

26.

(@) @l

Ed Y events of Indian

e

et e fd o 83 3

aﬁﬁ,ﬁmﬁ#@aﬁﬁwm%?
(A) SaehTES JefeTaeT

(B) ar3firg aresaaedl

() WS eI

() faf¥d |
An economy in which there is both the
¢ and the Government, is

private Secto

known as whic

(A) Outcrossed Economy

(B) Hybrid Economy

(C) Merged Economy

(D) Mixed Economy

e Tt e @ Pt d 8

f5T e & S WA ST 3 3T T

i e = foa o R ST “T5ege”

sraAmE _

~(A) ifcrataTer ST THER |

@ W gE H

h of the following ?

(c) s
(D) AT A& el
' Rabindranath Tagore had renounced his
 “Knighthood” and exI ' )
and anger after which of the following
National Movement ?
The Jallianwala Bagh Massacre -
(B) A baton charge of police on Lala
Lajpat Rai
_ (C) Partition of Bengal
(D) Komagata Maru Incident -

y. e it R & P wa & 7

(A) HUTH IATCH
(B) a0 IeqTET

(C) Wr=-9TeH S
(D) J@¥gEw

“Blue Revolution” is related to which of
the following ? S e

(A) Cotton Production

(B) Dairy Production

(C) Fisheries Production

( Water'Pollution _

AN PRI [V PO :
PR T ¥ K U PPTTATATFA F8ch WevIE
VK T
. POIEINTI Fi Moo,
FER CDNPIDLNTS VxS0 PSa TF VR S0 PRI

expressed his pain-

30‘

31.

29.

(©

‘Who among

ffeer oo
(A) T R (vt ey
© (DigiLocker) "
(Dg %(UMANG)
Which oftﬁﬁ ¥ (PMO Indi)
“Digital E e following application aims at
Prmgiding n;gg;:sem}znt” (:lt; o
docnn S authentic ~ digital
E\"allet ;nts to citizens digital document
A)  Voter Helpline (BY Digi
igiLocke
(€) UMANG (D) PMO India
gg'@g H, I wew o feffea 3 @ fra
vy pf-arfereer A wge B
I frarman 2 ¢
(A) =g

(Cy T (D) $Fl%{
Recently, first all-girls Sainik School has

been inaugurated at which of the
following district in Uttar Pradesh ?

e

S

(B) ©@IS

Ftferfia § ¥ o 3% ¥ RuPay Jea
A &1 Taell e Hhiee e el fFan & 7

©(A) - TSRS

dh
(B) . YTt R o (THEATE)
F I

(D) FHEIF '
Which . of the following banks ~has
launched India’s first Corporate Credit

Card on RuPay network ?

. (A), ICICI Bank

State Bank of India (SBI)
(C) Canara Bank

Praferfag 3 & 99

T 9 7
(A) FA Ze

(B) | IS FarAl
(B) a‘s;ﬁmﬂ

€) &

(D) T A A :
the following was the

founder of Tata Steel Limited ?
(A) Sir Nowroji Tata

(B) Sir Jamsetji Nusserw:
(C) Sir Dorabji Tata .
(D) Sir Naval Tata

anji Tata

& GONPIULA TP AN AR T
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32,

33.

34.

3S.

) RamEww

S TV Ty e, 2006 F 390
HERF 7 37 T

®) T sty

A) w (B)

©€) ™ (D) =w

The State government shal] appoiht how

many “Collector” (not including assistant
or additiona] collectors) as per The Uttar
Pradesh Revenye Code, 2006 7

(A) One

(B) Two
©) ‘Three (D) Four

‘olﬁmﬁsamm
IR I N R3]

nd Ballabh Pant
(BY" Shri Kalyan Singh

(C) Shri Yogi Adityanath
(D) ShriND. Tiwari

A @Y W &
T /Fawmie wiw & R
ﬁfé‘mmﬁrmm(

49 e
T -

(C) ImEe

“Yaya Tso’
Heritage Site
the following

(D) ¥ iR i
is the first Biodiversity
(BHS) situated in which of
States/UTs of India ? |

(A) Himachal Pradesh -

PIN PSRN THVR SPe,

(B) Ladakh
(C) Uttarakhand
(D) Jammu & Kashmir

37.

38.

© BEER (D) frow ey
Which  of the following
comprehensive and visionary in;

that aims to ¢mpower women for
security and self:
Uttar Pradesh ?
(A) Mission Shakt
(B) Mission Vanita
(C©) Mission Sunita

- (D) Mission Vamini

is 4
tiative
safety
reliance in the State of

mﬂ%ﬂﬁmzﬁmﬁwﬁ@aﬁ%ﬁm
Wﬁ?ﬁmﬂﬁ?ﬁiﬁﬂ%?

(A) e B) faEr

(C) ITrdg (D) g
The state border of Uttar Pradesh does
Dot touch to the b

order of which of the
following states 9
%4 Telangana

(B) Bihar
© Uttarakhang

D) Haryana

Wmﬁmﬁaﬁamﬁ%ﬁ

ﬁq%f@aﬁ%ﬁwqéa’i@mﬁﬁa%?

(A) ﬁ%ﬁm*’[@m

| Ny
by

Peak in southerp India is
Anamudi that is Situated in which of the

- following mountajn ranges ?
(A) Velikonda Range
(B)  Balaghat Range
(C) Nilgiri Range
(D) Vindhya Range

. ey e
PONPEILNTIVR SO ez TN PN R AN PSS GO SN PN Y
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68.

69.

70.

71.

72.

73.

74.

75.

76.

oy LN T A.\\\M“:.\“‘"q‘~'\
. UL TR SN L
o AN BT TR A SO
WA P PN T VA 0T A T T i
’ i T = -
N " TN T
FELATIS P AN PFTLN T
AXNPICTN TR S0 vROLAT

(D) 99 T 3 @
Tt S ot R a9

BEX
S o
(C) =fyw
(B oM T HW IR
‘ﬁaaa’ﬁw%%aﬁaﬁaﬁm%?
(A) gfeFerda (B) =iy
(©) g D) - Afrefrro
e i e § 3 frwd 2 -
(fﬂ-?r?w ®) e
© TWEE (D) G
et v e o A S g2
@) fed  (p s
© ¥F (D) 3y
‘ ww%l'wwﬁaﬁwm'

- (©) dR-fEm (D) faw -

TR 3 ST w S o) Y 7
(A) el w1 gy

(B) 1 oy vty e

(O™ T 57 Wiiem v

HTeTaTeh SRRy
Eg)) THETS - Rysigor
(C) TiwHET=S Ry
(D) dftrarae fran- R
ﬁﬁr%ﬁgaﬁﬁ‘qg'mwmﬁm
BHATTED ¢ :

A) wr B) Temm

A el v - e

1 PrefaRea 3 d amar
(A) femm - anfit (B) 1w - fomg

‘it % e s g i

o 4w v T € 7
(A) T (B) . %
C) TF (o ClE

77.

9

78.

79.

80,

- ©

31.

82.

pairs which have
138 as their LCM,
WE can deﬁnitely say that
N0 such pair exists,
only one sych pair exists,
only two such pairs exist,
many such pairs exjst.

8513 112: 273 . 3/4 % 39 1 g

Rl

mﬁﬁﬁﬂnﬁa%mm,a‘wmm%:

If T 851 be divided into three parts,

proportional to 1/2 : 2/3 3/4, then the
first gart is:

(A) 296 (B) 222 (©) 333 (D) 396

qmrﬁaﬁ%m%m-m%?ﬁﬁﬁ
ns‘aﬁ(su%mé‘ma‘r:ﬁﬁ%zs%

i Big fear lﬁﬂrﬂfr@mmzozs_ ®

TS | 7 3 e T I T A e ey

waART

10% of people died due to in

village and due to that 25% of remainin,

people left the village. The population ig

then reduced to 2025. F“:]f ioplall number of
le originally living in the vi age.

p.igp 1500 B) 2000

EC) 2500 D) 3000

&/
3

cholera in a

A S
DH-1
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102.

103.

104,

108S.

. SR H BTG
wE

T T W T T R g e 2
Which one set of Iletters
sequentially placed at the 2aps in the
given letter series shall complete it
CB_CA_BACB_CA_BAC D
(A) "ADDBBB ~ (B) ADDDDB
(C) BDDDDB. (D) BBBDDD

fohedi & % o v fowew 9§ ot

Choose the correct alternati
ones that will complete the
12, 23, 34, 45, 56, (7)

(A) 67 (B)69 (C) 171
:W::Gﬂ?ﬂ:(?)
(A) w& (B) fwefior
©) 3« (D)  T[=
Melt : Liquid :: Freeze : (7)
(A Ice (B) Oxygen
(C) Solid (D) Pressure
%Mivﬁi{BD % JAg’A b4

J
C) AVAJ gD% A%\;

e o 3 ey i 8

ve from given
series

(D) 78

How many squares are there in the

106.

following figure 2

(A) 12 B)13 (©)14 (D) 16

T SR W ¥ I H@1 R 3R 10 Rt

TR T 3R et 8, e 2 g 2 s

7 ferult et 2, R A 2t et 2 3t 14 |

fepet =reran 2, ot o e @ a4 Rt
AT B 3R 37 # a1 qEar 2 39N 4 ferd
m%|ﬁ_wﬁ1mmﬁm§ﬁm
27

A) 1ofeft . @) 11f%H
(C) 14 Tt (D) 17 femt
A person starts from home and moves
towards west by 10 km, then turns right

-and moves by 7 km, again turns right and

moves by 14 km, then turns left and

moves by 4 km and at last turns left and |

moves by 4 km. HE)?W far the person is
from home position _

(A) 10km (B) 11km

(C) 14km (D) 17km

. < PO PITLITIPE AN ML T PR PO POVTN T Pl BN PO TV BN PITTN T
DL TP P
. AN PEILN T

DH-1

& TR 3 s ¥ | 107, ﬁ%ﬁqm‘mftwmaﬂ;
T

when

I, I, 11 3R IV shoifieg e
YR

IV. & | 368 Ieeshar g |
(A) et 1 37 11 Aoree & |

~(B) et 11 37K 11 wrore & |

(C) ~aet 11 A & |
(D) * I IV TIEq 3 |
Question given below consists of 5
statement, followed by four arguments
numbered I, II, IIT and IV. You have to

“decide which of the argument(s) is/are

‘strong’ argument(s) and which is/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives
given below the question :
Statement Should people with
educational qualification higher
" than the optimum requirements be
debarred from seeking jobs ?
Arguments ; B

L No. It will further. aggravate the

problem of educated unemployment.

I Yes. It creates complexes among

employees and affects the work
adversely.

I No. This goes against the basic

rights of the individuals,
IV. Yes. This  will

increase
productivity.

e

PO PEIE T A 2ch oL e BN EPGIH TPl 00 POTE Ty

| (A) OnlyIandII are strong.

(B) Only II and III are strong.
(C) OnlyIlis strong,
(D) Only1Vis strong,.

————— R — ..
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o & Jraried 8/2 | -
”—@ﬁ
Jaret <t 7 | |
YROMS ; 1. SATE @ g 36 R

(A) Wmlﬁ%ﬁél , !
(B) e 4T 11 SFafiied @ |

(C) A1 faffea 3 |
(D) 7A 13T 1 JrTEa e |

In the question below a statement
followed by two assumptions numbered
and II is given. You have to consider the
statement and the following assumptions
and decide which of the assumption/s
is/are implicit in the statement.
Statement : “If you trouble me, I will slap
you.” - A mother warns her child.

Assumptions : '
I  With the warning, the child may

stop troubling her.
All children are basically naughty.
Only assumption [ is implicit.
Only assumption II is implicit.
Either I or I is implicit.

Neither I nor II is implicit.

(D)

¥. 9. 109%113:%:%@33@&@
A T AT 5 I G

S5 ¥ Pt 3=58 () 3 wferss

# G ATPF & U Im 8 &

—_
=
1]

~—

-~ 24
|

3
!

w2

R

6 e e 3

T o ) T S
STef & 3 et g s oy Py £ |

7. Toneft witem sheber % wwet &, af e 2
a8 & 4 7 W A R, 7 PR Rem
w9 #, I o F A w @ e
Gl IR B H G aY S A W 2 |

sl Pt #1 frefifea wo we # affa

Al W AR B AR 77 B e wHEl G

ﬁ?/mPF% qE 2 AT AR |

Q. Nos. 109 to 113 : Directions : Read the
following information carefully and answer the
questions : - e
A company has following Gratuity (G) and
Provident Fund (PF) rules: .

1.  An employee must have completed one.

 year’s service to be eligible for either G
or PF. -

2. An employee resigning or terminated or

retiring after ten years’ service gets both

- GandPF. .

3. An employee terminated or retiring after
five years but before 10 years’ service
gets both G and PF, but that resigning
during this period gets either G or PF.

An employee terminated or retiring
before 5 years’ service gets PF but not G;

_ but that resigning during this period gets
neither G nor PF. £

However, _

5 in case an employee dies after 2 years’

service, his family gets both G and PF.

6. in case an employee was on leave

without pay; such period is deducted

from his total years of service and then
~ above rules are applied.

7. in the case of a lady employee, if she has

completed 2 years’ service, two years aré

added to her actual service before
applying the above rules, as a special
consideration.

Apply the above rules to the cases described in

each of the following questions and decide

whether the employee is eligible for G and/or

PF or not.

EF P PO PRET TS PR RSy POTEN TPl SO P TV SN PRI ST AN PN T R

AN PITL N IVE A PICLA TP 0 PO TE e IR, T 0

13
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110.

111.

(D) 3R G 3 pF a‘ﬁi'ﬁqmaaﬁr"é |

= ¥
LT Vsl PP P T T P SO PO Ty RN PN TV
PN PEUTH DFFL BN PEDLAT

DH-1

|
(D) 3Rk G 3ir pF 3
Mr. Ashok was t
after ten years.

@A) if only G can be given.

(B) ifonly PF can be given,
(C) ifeither G or PF can be given.
(D) ifboth G and PF can Ibc given.
At =t 3 SR i wwoad a A e
T TR AT 2 fy | E

(A) 3R Faa G A s 2 | |
(B) AR %t PFRemrsnawaid|

Rusewig,

erminated from service

(C) ¥ G a1 PF ¥ ¥ #K @ R =

qHar g | - |

Mrs. Verma served the
years and resigned. .
(A) ifonly G can be given.

(B) if only PF can be given. .

(C) ifeither G or PF can be given,

company for four

112,

(D) ifboth G and PF can be given,

113,

mm%*ﬁ%mmaﬁwmm

3R M ad § goh AT & St gy 3

Wm=miﬁm,ﬁﬂ%mﬂ
HIHI 4T & |

W) =¥t G & o wae g |

(B) Ir&%aappf&mmmtr

. (© uﬁwﬁ(}ammia‘maw

ﬁmmmil
D) AR G pF 3§
HHar g |

Akshay worked for the company for

Seven years and eventually resigneq due
to a prolonged illness that lasted three

W T e o

if only G can be given,

if only PF can be given,

if neither G nor Pp can be given.

if either G or PF can be given,
A e 3 e F ey T 1 T |
‘s‘laﬁ,aam%axzaﬁ%aﬁm,az

SR WA | snfign, o)
_m%ﬁmﬁmwi

@) ﬂ%%a(}ﬁmm%l
B) e %t PF foar s w2 |

(©) qﬁGmPFﬁﬁiﬁiwﬁmm
ThHaTg |

(D) ﬂﬁGaﬂIPFaﬁﬁqmmil

Mrs. Deval worked at
' three years. However, during 3/2 years of

that time, she was on unpaid leave,
Eventually, she was terminated from the
job.
: . . ,n‘
if only G can be given. ﬁ
if only PF can be given. M4

(A)

(B) |
if either G or PF can be given.
if both G and PF can be given.

$ BN PODTNTYR
o TACVA AANPSTLA TRV
: - TEPA FEHPOOLATIVA
BN PIGTLNTEF P PO POTEh

the company for

(D) -

Scanned with CamScanner



114.

115.

PN P I TV (P P

D)

AT TH I e & v # 4 §;
T W 3 S Arafem 4d A ST
el & wEw § gy W IafieT A
Rreprad i | FT b AR, D!
(A) TEIRTT ) TR war g¢ AT B
TG AT TR |

®) T s e o
T TR | s
FTeR IR 3 F YR T A
) FiRR ST TR |
AT Y ST S & Tme w A

&1 Telg ol =eg |
You are stationed as a police officer; a
woman reports phone harassment of her

minor daughter’s intimate photos. As per

law, you should :

(A) Ignore the ca
the minor.

(B) Caution the minor’s  par
file statutory charges..

©) d on caller

D)

©

se attributing fault to

Arrest the accused base
ID ¢races. - :
Advise parents t
daughter.

o counsel their

st % w9 & 9 &;

A TH gierd
Trerer ey Fe @, FHEUTT 1 Soeted,
uﬁ%iﬁﬁ‘zﬁaﬂ

'%Iam;ﬁ:

(B) e Wt F TR % R
- 1 STE HE g |
(©) Zole anst & rerfl Fes

D)
1 &7 HET =M |
You are stationed as a police officer;
social media monitoring reveals plans for
unauthorized political rally violating
prohibitory orders. You should:
(A) Arrest organizers for subversive
social media posts.
(B) Engage organizers to explain order
restrictions.
(C) Request temporary suspension of
internet services.
(D) Deploy forces to firmly deny entry

points.

ents and

Excifondl .
ﬁ@ﬁﬁa&maﬁﬂaﬁ%maﬁ

116, em-yaum A7 § Ry yga ® w4 H,

117.
o 3 o, U :
O el

isrefires T AT, T % feau, R .
(A @wfra ITgfel B A wfifgn
sreprzet <t FrreEh weh =nfE |

iRy % Jeete o TE H T
forames Pt weh =e |
P @ T w

(B)

HE =R |
As station head in a riot-prone area, t0
uphold communal harmony, you should :
(A) Monitor social media profile of
potential troublemakers. .
(B) Make preventive arrests to avoid
breach of peace attempts.
(C) Impose prohibition orders on
dangerous weapons’ possession.
(D) Arrange talk ~for inter-faith
"~ " confidence building measures.
37T T e ) % w9 H &
et 3-pTE deETge HIeTaTSl bl TEHH

oft amrfent i AT

et st =T |

(B) WIgE USfeRIT T Idl o % fog

| ofree &t v 1 gehgl AT <IITeT |

(C) = i figed HE1 1T 3 fomm
T gRe & fasar 9% @@l
fergeryor eT =1 |

(D) wft FfRRq AT AT GIeed
3R Yo W wfaEy ST 90T |

You are stationed as a police officer; to

identify fake e-commerce website

scammers, you should : '

(A) Monitor online purchases of all

citizens in the region.

Assemble ethical hacker teams to

trace site registrations.

(A) &

(B)

(C) Hire hackers and analyze vendor
bank accounts without search
warrants.

(D) Ban all unauthorized online

shopping portals and apps.

e O BT P ¥ R :
S AN SETANTFR PO PRI TS VS O TEN T o PO oIS LS TR DS PSTNCS ¥l DA POCEN TR F R PO PAMEA TR R AN ISTTA TRV oY ey
. o ATV SN BN

15
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= A

121, ugTaganaﬁm‘erfhzﬁaTaaﬁﬁmﬁﬂt

122,

Ao P T

Sw ot shamareft feet Mt
F1 R 8 St @ R fog gt
g Wﬁ@mgéﬂé;%qmﬁﬁ
A)  ©H
@ e meh )
(B) TRSETE FH g St gu wfireg
FTEHI THI =IRT |
(©) trrﬁmﬁ‘oﬁm’qﬁm%i%q%@qﬁ
(D) %wa l
_ TS
N U6 9 & g

A national security priority manhunt
enters climax when your Spouse meets a
serious accident

should :
(A) Delay informing family to avoid
distraction. - :
(B) Take brief leave deputing
operational coordination. '
(C) Handover full charge to deputy for
family priority. e,
(D) Strategically - allocate expertise
areas among wider team. '
T Y st ¥ w §, s R

g gifde gon et i Ral
(A) et damie aqgl W SAAeTE
(B) oM e~ BT ITH
 gehigmesEERe .

(C) @ W UIRI H1 98 M W fod
© o % forg e arse T @y S

MR |

HEIIS TAA H M FQ@ gU
Fqu-giiie Wid TG B A
T =T | _ :
As a police ofﬁce{, m'moritic'es- in your
district report experiencing rellglous hate
crimes. You should: .

(A) Online proﬁlfe surveillance on
radical ideological groups.
Fast-track prosecutions announcing
exemplary sentences.

Implement district cyber patrolling
to mass report hate posts,

Organize inter-faith peace initiatives
involving community leaders.

(B)
(©)
D)

e P P FREN T

I ST T T |

requiring surgery. You |

124

123. b qfere sl % ey g

- ®

sttt % faems wfier

©)

(D)

STt TS =51 Hefa wer wfia |

~ Asa police officer, you notice workplace

sexual harassment
women  constables
officers. You should :
(A) Setup internal complaints
committee promising action,
Implement mass gender sensitivity
training modules.

Enforce transfers of implicated
personnel from command roles.
Refer cases to external agencies
ensuring confidentiality.

from
senior

complaints
against

©
o)

. T e ST ¥ w9 8, #§ Arefie

T SRR BT a T SeTH R E 8
(A) A e Tl A Fvad WieHR o |
(B) WeEHehIl bt a9 8 H % fore 7
(C) R HETAI shY TRETT ik |

(D) i@ W W s g o

- YR | |
As a police officer, I can best
demonstrate patriotism by :
(A) Accepting bribes from law
breakers. -
(B) Using force to subdue protesters.
(C) Safeguarding democratic

institutions.
Imposing my religious values on

citizens.

(D)

¥l SO HER TN T AR TN T T SO U A 00 PO TV (PP TR VAT (N PO A TN SO AR TV SUG B SETA TP AN e T v
DH-1
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132. t@aﬂtﬁfﬁq“ﬁ% | S, TR 35 ey
%nwﬂ,mﬁm%lﬁm,mﬁ
mn%:m,ﬁmawn%mza,m%
o5 wropme waifug ?

(A) wig

(B) =Ry ayrg

© wm

(D) ﬁ‘ffﬁﬁ:ﬁﬁﬁﬁmmm1

IE(a)ll;ul ,and Robin are brothers Pramod ig

133.

&

A I “LINGUIST™

. Shubha ig

(A) Brother

(B) Cousin

© Maternal Uncle

(D) Can’t be determined -

If first, third and sixth letters of the word

“LINGUIST” are changed to

English alphabet series and fourth and
seventh letters are changed to their

immediately succeeding letters as per -

English alphabet series, then how many
letters are there between the third and
fifth letter of.the newly fo_rmec_l word
(according to English alphabet series) ?
(A) 6 ®B) 7

(C) 8 D) 9 -

¥ R, det 3

their-
~ immediately preceding letters as per

135,

136

. the question given

rough how many de
will the fious Y Brees

shows 3 o’clock in
Same day ?

(A) 165°

(B)
(C) 1750

(D)

Bt smgsfy = AT Y ik
T HIIWE .

Study the followin

170°
180°

= g mg

g figure ang answer
below :

How many backwarg
educated 2

A s
© 22

people are pot

B) 17
D) 12

- Pt % 4 i 1 ot g, e,

g&%aﬂaﬁa‘uﬁmmmm
?7

Which of the following diagrams best
indicates the relation between Sea, Earth,

Sun ?
O

"6 w O
0 @ o

> SN TR PO R ATEY
. . . ¥ N PR TRV A S PO
TVl (O PEVEN TR NP TR TS OO PO TN S

! O T el (RO PRI

- : OF 5 PN L

TV F A P e T

PO PEUEN TEF TR S0 P RTL

19
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139.

- winto 6 equal cubes of side 1 cm (from 6
¢ side), 4 equal cubes of side 1 cm

- nocolour ? : _
(A) 4 B). 8
(©) 10 (D) 12

younger than R, R is younger th
then who among them is youngest ?

@A) G (B) K
© R D) A
T SR RS F w B S 6

63 1) T o1 2 s e oy
fﬁw%‘lﬁﬁﬁxmﬂ’f_mmﬁam -
E‘l‘fﬂ‘-‘ff”rw%lmﬁ(ﬁwwﬁ
IR J) lﬁﬁigmmﬁﬁmmﬁ,
(4 50 g 1 3 B) 1| &t e a4
U T # ferifore fapam mar | ;

'&a%ﬁméﬁmammtn%aﬁx
T A S B TR o

A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and ] cm height.
Two faces measuring 4 cm x | cm are
coloured in black. Two faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 cm X 4 cm are
coloured in green. The block is divided

(from 4 cm side).

How many cubes will have green colour
on two sides and rest of the sides having

%IF e 9873
. I T 652
4. viwEl i I ot
© HITURA R |
39, T fRufoet w foem i e, ot

~ A health-conscious individual js
‘remember the hotline nume
“recently

- 1. The phone number starts
2. - The phone number ends with
, 3." The fourth digit is either 2,40

(d

‘established g
consultation service. He re
following points: .

~and not repeated in
numbers,

4. The fifth digit is the product of the
 last digit and the fourth digit.

Now, considering these conditions, the
individual has narrowed down four
potential phone numbers for the nutrition
consultation service. Find the suitable
one. L
(A) 98762652
(C) - 98724652

the digit o

(B) 98748652
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1 woT & v U 3k 3w @ 1300
mﬁmaﬁw&ﬁqmﬁlmwf’f
& 1 o i wr v w2, R A
ﬁwﬁwwmﬁaﬂw%ﬂw
am%ﬁ;wﬁﬁaﬂ?m/ﬁwﬁ?ﬂﬂ?
mrﬁﬁa‘f%ﬁﬁ%’aﬁﬁammﬁ

SER /A R/E |

S ; ETETTehR e U8 IHfgER T 94
¢ gwaT & Fras @ T @ =ifsd
S & ST A e SR E |

?ﬁﬁmmﬁﬁﬁﬂﬁﬁm
o 7 TR et 2an f = St

il _
F W@ % e A
FreTeHT e s 5 A E |
Frare frsshd 1 3TgEer S 2|
Sraret forseme 11 310 e 2 |
(C) 13RI ST 3ET Eoch AR
D) AR FTEOTH@R |
In the question below a statement followed
by two conclusions numbered I and 1I is
given. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide which
of them Ilogically follows beyond a
reasonable doubt from the information
given in the statement. - :
Statement : The interview panel may
select a .candidate who neither
possesses the desired qualifications
nor the values and attributes.
Conclusions :
I.  The inclusion of specialists on the

interview panel does not guarantee
that the selection will be proper.

142.

II.

(A)
(B)

II. The interview test has certain
limitations in the matter of
selection of candidates.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both L and Il follow.

(D) Neither I nor II follows.

CONPIVLN T ¥R 106N ¥

144.

143, a8 Rreped T A fay oy

145.

WA o
o & TR B gy

rnati toh
Choose the altc- W‘" Which iy losely
resembles the MIrror image of the giyen

combination.

FIXING

(A) GNIXIF (B) OUIXIF
(©) AIXIAD (D) DUAIXTA
wm"%mﬁ(x)ﬁﬁqmﬁsﬁ

(1), (2), (3) e (4) & B P H ST

TS S Hehdt @ |

Find out which of the figures (D, (2), 3)
and (4) can be formed from the pieces

given in figure X).

AD
4y ||

Al

X) an @ 6 @
@A) (1) B @
© D) @
e fredi 3 & e e R el e A

figer o1 W AieY W ¥ Far fewn
<

Find out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is
folded at the dotted line.

HLRILE

-
-

oy

- (X ) @ O 4)
A) @) (B) (2

© 3 (D) (4)
s
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146. XIARY W& IR, Yy Ra1? | T, S i

. (A) H@r

147.

- Which of the following option would be
meaningful order of the following words ? -

THAT 1 2 3RS, X HIAMIR | T, R A
oo TR Hafa @ 7

(B) d&it
(C) =& (D) wig

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mother  (B) Wife

(C) Sister (D) Brother
freferia & & @ &1 fes 9 Ry o
T3] %1 Wi 3 g 7 |

L., - T, il ST

< s W . 4, TR

5. &= s |

L Infant 2. Ol .
3. Adult © 4 ‘Adolescent
5. Child LG
(A) 5,4,3,2,1 "(B) 3,4,2,1,5
© 1,54,3,2 (D)23451_

148, %J@ﬁﬂﬁ?ﬁmﬁﬁ———rél

DI-I.

Choose the figure which is different
from the rest. .

AR

C) QA o) @), ()
) ® @
=9 ® @

PREHN OV o, ST By ot
PITI BT g FOUEA TP GO POWENTITR OPN POWTRN ST

22

|150.

L |wmmwm%mm
fén et o 3w fem e 7

There are 8 members in a friends group
who greet each other on the Deepawali
day by sending cards. How many
greeting cards will be used for this

purpose by this group ?

(A) 50

(B) 56

©
O

T Tl 5 ¥, 4 S 3h 2 e 3
#f9 % 12,900 sfear | AR v2w ¥ )
' e Wl & TR T 3 firern 2, sk

S 32 F) T T & v T

foreren B, 1 W 98 9t e freran 2 7

" A man divides ¥ 12,900 among 5 sons,

. 4 daughters and 2 nephews. If each

daughter receives f‘ouf times as much as
each nephew, and each son receives five
‘times as much as each nephew, how
much does each daughter receive ?
(A) 900
®) 71100
(C) 1200

_ (D) T 1500

B
OO PN TS P A BOOTA TR (e PO TS AN ) T ﬂ
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. FeffEn s e mmEt ;g o

(A) -~ (B) W
©) (D) e W
40. Pt 3 & W 1 v e 9 © w fﬁ; g
@A) T (B) wa iy K
(C) @laem (D) i B e @ ﬁﬂ'mﬁﬁ?mmg?
41, frefifed § 3 wleft w= % iy |
e e 7 © f ((g; .
(A) AT, T 50, frfife "
(B) A, ke 4 8 P e i
(©) W,aﬁm ﬁﬂﬁ’*‘a"fgan%? g
(D) fe, Sz (A) -3 - 3 3
42. ﬁnﬁf@a.ﬁ%mmm%ﬁ—m&m B) ?Eﬁm-ammagm
AT VIeG gETA § 7 | (ORE I
(A) ¥ ! SfeR aTeT - STy T R e
() TEAE - | k
(D) 3Mfeq 37d q - AT @ ﬁqﬁ ®) A
43, i gg-gm fAafe afk o
o e DR NI A
A) _ - TR 5y free
O Emom W e G e
(©) fa- _ © Fft+
D) fiar-frmta IR D) Fh 4w
44. Pl & @ ome am W oww | B TR w2 7 e
Cdif e H win gt
(A) . SIS 3 49w fEEm | (A i B) i e

. (B) W EE A TANRE 7
iy © Ejﬁg&ﬁwaﬁmmmaﬁ © =wsfw () e g
- |

EEE(D) . T L L e
(A) U=ITEr favn

45. T 8 @ fom 6 2fd @ < a1 ey -
_ 297 g = T () e

(A) TS - (B) wfa- sfEm (C) ToraTe farstor
(C) @M=~ (D) Igm-dem (D) REmEES R
46. gy’ ?
(j‘}“’fg"'@“gﬁ’"@ 55. et 3 & wot B a1 sereon e
©€) TR (D) ayd 27 |
41, w Y e A el § Witk | (A) TEeEE i
A B R 7 - - (B) T e e |
(A) FUTCHHE (B) T HRE (C) FBARR|
(C) SWHRH (D) HIGH FRF - (D) wEft| @A

CONPETLINCIVR PN P POLA T T XN BTN TS ek PN TP, NPT AT P P ——————ee e LR T S O R *'WB:aI;Inwi
-

7
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84,

8S.

86. .

87.

5 TP XN PPDINTI PR B B T VR PO BT AT b #0%  2 h e
{
Rk PR T Pl Py POy

V 83.

T Ty

(A) 66

BT 1
I

AT Bar g |
By selling 33 metres of cloth, one

e selling price of 1| > gains
Egl)n ercen‘g.J metres. Find the

0% (B) 259 (C) 50% (D) 65%
3

SUm was put at g inter'est at
) . a
certain rate for 3 years. Had it

> A1gher rate, °j
% 420 r%lore. Fird 1t would have fetched

A) 36,000 ' '
gc% % 7,500 §§888
P,QaﬂtRm?zo,ooom'ﬁ%wﬁ
@W%W%lsnﬁ%mﬁ
?_s,oooﬁmﬁlQ%fﬂ,oooﬁmaﬂt

R 9% 6,000 Sttt o e | o 3
FaH

&4 T 34,950
w%é?m &t o | p |

| |
P, _Q.and R started g business each
nvesting I 20,000. After S months, P

withdrew ¥ 5,000, Q withdrew T 4,000
and R invested 7 6,000 more, At the end

of the year, a tota] profit of ¥ 34,950 was
recorded. Find the share of P. ' _

(A) 210600  (B) Z10250
(€) 14100 (D) z10800 .
11 fomt =1 st
IR *7 e

51 ® 3R 3ifm o7 =
it 59 8, <t '

B3 TR T Y |

- The average of 11 results is 50. If the

average of first six results is 51 and that of
the last six is 59, then find the sixth result.
(B)8 (O) 110 (D) 107

3R FHEAT-3TEH S
mﬁ%: 9 AR 12 Tt & g #
T 2 | 99 @ I S AR 3 -
T A Th-w R B R E, @ wd
Topa et 5 &1 o 2

-Diptesh and Tushar working separately

can do a piece of work in 9 and 12 days
respectively. If they work for a day
alternately, Diptesh beginning, in hox‘?'
many days, the work will be completed "
(A) 10 (B)41/4(C) 11 (D) 43/4

DH-1

50 3 | 9f¢ TRt wE

I g |

10

89,

90.

91.

Find the 14t
14,10, 6,2 -.....t?ml of the Sequernce
) 34" @) 3¢ (©) -42 (D) _ 46

ﬁwéammnm

T R 1@%@@@@3&3

(A 100 m %343;11:?333.18% M T

TR 3 g | : |
gular field is three timeg

The base of trian
its altitude. If the cost of Cultivating the
field at ¥ 24.68 per 100 m2 b, ¥333.18

find its bage,
(A) 30m (B) 60 m(C) 90 m (D) 110 m

e se 0 /Fa R den da
500 e 1 gt 72 e 3 e oz ey 5

How many minutes does Vandan take to

cover a distance of 500 m, if he runs at 5
speed of 20 km/hr ?

(A)1  (B)1.25 © 15 O 175
. 9. 919 95 : fieferfea Yar oo 2001
ﬁzoonﬁ’rmﬁ:%aﬁmﬁﬂﬁémﬁm
ST 61 AE SR 37 S F frgia
T %1 AT ST R -

Q. Nos. 91 to 95 ; The following line
graph gives the ratio of the amount of
imports by a company to the amount of

exports from that company over the
period from 2001 to 2007 -

IR L o I P p——
TRata 6w srgam

Ratio of amount of Imports to Exports by a
' Company over the Years

L6

i

1.5
nz/
~

) 2001 2002 2003 2004 2005 2006 2007
i/ Year

o o 2 <ot 3 Foart 3 e s
A U7 ?
The imports were minimum

proportiona’teh to the exports of the
in the year
company y (i s

2
e 2 (D) 2005

(C) 2004
SRV S 0T AT PIRLATIOP S MNP STATPL AN T T TR
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92.

93.

94,

95,

453

fee T vt # A '
e mud st 3 faf 3

In how many of the given years were the
exports more than the imports ?

@Al B2 ©3 (D)4

3fg 2002 ¥ S T IR ¢ 260 e
o, @ 2002 # H 1 Fafa o

If the imports of the company in 2002

were ¥ 260 crores, the exports from the
company in 2002 were

(A) X 360 FUS / T 360 crores
(B) T325 FUS / T 325 crores

(C) 7310 HUS / T 310 crores

(D) 275 %S/ T 275 crores
2003 ¥ 2004 T AT H fham wfrra &Y

87

a.\.?V?at was the percentage increase in
imports from 2003 to 2004 ?

(A) 56

(B) 67

€ 82 .

(D) 321 39T &/Data inadequate

R 2004 & AW T 240 Flg, I
2004 37t 2005 H TRt
g o, T 2005 H AT Tehe1 4T 7
(A) T200FT$ (B) 250 FUS
(C) T420%UE (D) T450HUg -
If the imports in 2004 were I 240 crores
and the total exports in the years 2004
and 2005 together were ¥ 500 crores,
then the imports in 2005 were

(A) 200 crores (B) . 250 crores

- (C) T420crores (D) T 450 crores

96.

fata 500 -

- 7

98.

99

fé my e &, 3f
, @ 37 3t ; :
R M

In the given figure, if Triangle represents

octor, Square represents Lawyer and
Circle represents Literate, then ‘what is
the number of those Doctors and
Lawyers who are Literate ?

3
g 1.5

8

A3 ®B)S5 ©6 (DS

0+ o R, - s g, o
w1 3 o 3R - F o e, @
18+6+7x5-2=19

If “+* stands for division, ‘+’ stands for

multiplication, ‘x’ stands for subtraction
and ‘-’ stands for addition, then

18+6+7x5-2=19

W B3 ©20 O 2
. faedt 3 2 4 o (X) 6w

T s = |
Choose the correct mirror image of the
given figure (X) from amongst the four

alternatives.
o o 1 olo Uo !
m @ & @

X)

T a“ﬁ“;‘f@ EuRIGRE _;‘ﬂaﬁ % gta @O B ©E O @
wmq ARG 3?1?13'3] e TR 100, Preaferfen we , ©F weg femn mn R,
’ e N . 35 91e 9R W% feu e &, for | v fn
Choose the Venn diagram which best ‘
. b Moo o T Y1&E % & hT1 ITINT HH TE T
explains relationship among given items : FEHAR | i |
Animals, Vegetables, Potatoes § AR e :
: A O In the lfollllmvu:{g,rbqut;‘stlcm, on:ie word 1;
' given, followed by four words, one o
(A) (B) O O which cannot be formed using the letters
' : - of the given word. Find that word.
- @ RECOMMENDATION
(©) (D) (A) MEDICINE (B) MEDIATE
e e O - (C) MONITO (D) COMMON
= l 1 Wmﬂmﬂrhmaw.nlqm W SRR AR, S T A A RSIIT A TR 0L wﬁ:;xl _l
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6 TG T 9 R e R |
(D) HHH WNCS H I Y gy
AR w9 @ o ge

" You are an Investigating Officer; a

. (D)
119,

PN PR L

DH-1

celebrated spiritual leader s implicated
in a sexual abuse scanda] and requests
quashing - of legal complaints  filed
offenn% blessings and fundg for good
causes backed by you, Yoy should :
A) Partially “assist the
11m1t1ng trial damage.
Commut to impartially investigating
as per procedure. o B
romise inaction legally but aid
secretly in access to victim,
Personally conduct - prosecution
violating standard norms, o

m-m%-mﬁ

leader in

(B)
©)

BE:IE k=t |
(D) ﬁzﬁ%ﬁm%ﬁmﬂﬁq%
TS

SR T I Fe R |
When investigating online radicalization
cases, you should :- K
AcCt as undercover agent posting
inflammatory posts to  attract
responses, :

Obtain  court approval  for

psychometric analytics to be run on
such subjects, i

®)

(C) Share concerning - unverified
- snippets on official channels for
ulgl 1c vigilance,
(D)

se specialized forensic counsellor
insights for pattern analysis,
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You are an inspector in a crime branch
unit that deals with organized crimes and
gangs. You have been working in this
unit for the past three years. However,
due to a policy change, you are
traxisferred to a women’s cell

have to deal with cases
women’s safety

where you
related to
and empowerment, Yoy
is a less challenging and
rewarding work. You should: -

(A) Challenge the policy change and
: argue  ‘that your  skills and
€Xperience are better suited for the
crime branch unit,

Accept the policy change and use
your skills and experience to deal
with the cases in the women’s cell,
Accept the policy change and try to
maintain  your contacts and
involvement in the crime branch unit.
Accept the policy change and look
for ways to get back to the crime
branch unit as soon as possible.
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(D)
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ice officer, you are required tg
Asdgrggh;:ﬁodic training and evaluation
:.n enhance your: Skil‘_ls apd owledge.
'Which of the following _1S‘the name of

the Indian Police Service Offgcers ?

(A) National Police Academy

(B) National Defence Academy

(C) National Security Guard Academy
(D). National Forensic Science _Academy
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As a police ini
from, I; % officer, you get a panic call

| manager about an armed
robbery in progress with hostages. As per
Standard operating procedures, which of
these should e your immediate response ?
) Rush to the crime scene directly
Without back-up ' '
_(_B) Inform and coordinate with other

€mergency services
(C)  Set-up perimeter checkpoints to
_ isolate the area |

(D) Use social media to gather public
- information

the institution that provides training to -
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(A) 2 et (B) 11 fwsft
(C) 13 Tt (D) 16 fdt
A person moves in north direction b
7 km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns left and moves by 4 km. How
far the person is from initial position ?
(A) 2km (B) 1lkm

(C) 13km (D) 16km
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